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SCADA stands for R | \ :
e (e) Direct laying of underground cables is the

(¢) High voltage cables have operating voltage cheapest method.

upto ___—— 3. Choose the correct answers : [ x§=5
inter C. a) The interc

(N ~interface @ SCADA system with (a) 1 nt honnectcd system decreases /

SenSat: increases the reserve capacity of the systems.

| (b) Automatic temperature control can be provided

() If power factor is one, then current to the load in direct / indirect resistance heating.

with the voltage across i
g 5 s (c) The motor used for elevator is induction

motor / synchronous motor.

is
(h) For arc heating, the electrodes used are made
of

(i) The method of heating used for non

(d) Outdoor sub-station requires more / less space.

(e) The process of providing an oxide film is
known as electroplating/ anodising /

conducting matengls 1S T g
o AC drive is also called : | :
G A o 4. Match the following columns : 1%x5=5
2. State True or False: 1x5=5 Column—A Column—B
| (a) Commonly used primary‘distribution voltage (a) Fixed loss: S (i) Wrong tariff
l | is 132 kV. (b) Variable _loss\\ (i) Improve power
: o ; factor
(b) The initial cost of underground system IS | ——
more expensive than overhead system. () Non technical loss| (i) Corona loss
; : 4 (d) Synchronous - fégv) Power factor
(c) Low power factor accounts for small size of 2 condensons 1 \ tariff
i t. ' i —
the equipmen ' () Sliding scale tariff | (v) Long distribution

lines

(d) Direct arc furnaces have unity power factor. ’
38/EL-602/ACD&U/6th Sem (3) [Turn over

% 38@L-6020\CD&U/6’(11 Sem (2)




8. (a) What do you understand by electric ne: i
£ : N v : - 4
=00 \What are :i.'\;«; (t What are the advantz of elec ea
WAL L (b) What are the advar
N > e -
3 over other system of healing -
LN N Pl 4 catiad of 67
UTOI > «C)) Ihg_,t@_’lw_@”,l {,{]ﬁ . !,,[J‘,’]g/.r(qj, ]\;17, ~‘,T, ranges ol 1
i / v
e e £ and vo ita o€ ( _‘V,_,\‘,m,y I'?'z,”" ate
S pI e '5@‘” ZEL‘ 3"129 tar and vol A} [
DA - at N |
RO 0.9 l@‘ WUWL : 9.
‘ | IJJ@E are m@uc@@’i
: e ) ] the lamp
ng @E@!
reactance per | are |
pectively. 6 :
R e 2oli8
a) Dis S of low poy -
7 for connect L '\M‘ J 1 . = . o ; 4 X ;
aiee LoHO" ‘8-‘0),",[1&1\-*-» 3 Short notes DNl any (! -
akes 31-7A at a of | ‘
] : 0 ; . | {a ;““):v’:‘p;\ﬂ'y‘l.\jg;}x SV ] S,
( 12 1C qu ANCce ‘(:C.{IJ’il"va’\|\".ng. \a)
1 o+ to raise the power ) S =
d
[ Y] y - ‘
(C) L1 L '
1 I 1 TOULIU
Al = d) T 135 )

QAr
AD




